FENHiF- LHIHEXZE-PHEXKEMOOCRIRES
Quiz 1

1. ¥UBFRR: English is an analytic language whereas Chinese is a synthetic language.
1IN :

A, IFff

B. iHIR

g% [ER

2. FIBFRR: English features hypotaxis whereas Chinese features parataxis.
i i

N

B, 3HiR

2% [iEHm]

3. FlrER: English is like abamboo whose stems build upon one another, whereas Chinese is like atree whose
branches are all intertwined.

1750

A, IFH

B. fHI=
2% [§{EZR])

4. FIWFREL: English is more dynamic than Chinese.
1500 :

A, IEF

B. f&IR

2% [{ER)

5. FIWFER: Chinese tends to use more verbs than English.
15600 :

A, IEF

B, $BiR

&% [1EfH]

6. FIBTRE: Chinese tends to use non-animate subjects.
1IN :

A, IEf

B. {HIR

&% [{ER]

7. FBTRA: English tends to use more passive voice than Chinese.
1%6Im

A, IEf

B. $HIR

sx: [1EH]



8. FIBTRR: Generally speaking, English has long and complicated sentences while Chinese has short and
simple ones.

150 :

A, IFF

B. &=
&% [IFt]

9. FIBTRA: According to Nida, translation means the equivalence in meaning between source language
andreceptor language.

i i

A, IEF

B, 3HIR

2% [#ER

10, FETER: The first stage of translation in the history of China is the translation of Western literary works.
17610 ;

A, IES

B. $HIR

&% [EZR)

Quiz 2

1. BAj%ERR: The dinner cost us five dollars a head. Which is the most appropriate translation for the word head
in this sentence?

1IN :

A, 3k

B. 3kiX

C. B

D. BA
2% [BA)

2. EAJERR: These were all labeled as good eggs. Which is the most appropriate translation for good in this
sentence?

1500
A. HFHY
B, &Y

C. =Y

D. MIARY
2% [FrEEay)

3. ERJERE: Nasser was a good chess player. Which is the most appropriate translation for good in this
sentence?

EIN :

. TR
B. BZEARY

C. =AY

D. =LY
2% [=E1]

>



4, BAI%RA: Which is the most appropraite translation for to die a martyr?
yeir U

A, AL

B, 4t

C. =t

D, I3X

&% [4]

5. BAJ%RR: Which is the most appropriate translation for to give up the ghost?
1IN :

A, FHEHER

B, FE#5FaiT

C. MY

. WiEE

&% [Wa=x)

6. ERJERA: Which is the most appropriate translation for & GxtHER?
15610 ;

A, to go to Nirvana

B. to abandon the world

C. to go west

D. to close one’s eyes

2% [togoto Nirvana]

7. EBRERR: Which is the most appropriate translation for He was lying on his back™?
1500

A, fBEMEMBRYE

B, fthiBiESEN.

C. fflPEhE.

D. ftfEEhE.

&% [fBEME. ]

8. EAJERR: Let’s discuss the question under five heads.Which is the most appropriate translation for head
inthis sentence?

175Im

. IFMA
B B

C. &

D, sk

2% [FEH]

D>

9. ERIERR: Which is the most appropriate translation for a Dear John letter?
1500 :

A, GREIERRIBH
B. #8315

C. RS

D. Qﬁ‘,np:F.'l

&% [HEx(5]



10, ERI%ERA: He has a weakness for smoking. Which is the most appropriate translation for weakness in this
sentence?

PRI

A. 55

B. fRPA

C. FEF

D. IR
2% [FF)

Quiz 3

1. #JBFRA: The purpose of adding words in the process of translation is to add more meanings to the original
sentence.

150

A, IFF

B. &=
s#. [{ER

2. FIBFRR: One type of addition--sementic completion--is out of the need of making the meaning complete or
achieving rhetorical effect.

year i

A, IFH

B. fHIE
&% [1EH)

3. FUBTRA: It is the same old story of not being grateful for what we have until we lose it, of not being

conscious ofhealthuntil we are ill. In this sentence, “health” can be translated into {22 F".
1IN :

A, IEf

B. {HIR

£%. [IFHa)

4, FIWFRR: A timely treatment would have saved the child. This sentence can be translated into FH 82T &
FRYAT, BN FERT.

17610 ;

A, IEF

B. $HIR

2% [{ER)

5. FBTRA: Omission in content can only be applied to the translation of those unimportant or unnecessary
words in the original sentence, for the purpose of improving the readability of translation.

1IN :

A. IFHE

B. fHiR
&% [1EH)

6. FIWRR: EIT/EH, Bl uamIBAvEREIR, This sentence can be translated into We must

avoidmakingunnecessarymistakesin our work.
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